April 11, 2025

Statistics

Lecture 7
Class Quiz 6
Given P(A)=-2 , P(B)=.5 , AR ave
mofwlly - exclusive  euedts,

) Sind  P(AY=1-PR) 5id P(Rond 3)=10]
gl

3) Fmd  P(Aor B) 4)owstevct its Vewn
- PR (B —FP(R and\ B) A\'o\gmvﬂ.
=2 yxs —0 =0

©.9
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Su?‘)ase P(A)=.2 , F(B):‘S, A ond B are

WWEW

) P(A and B) = P(RA) + PCB) = (2)(-6) =[]

AP A or 8):PA) ¢ P(B) — P(Aand B)=.2¢.5 -1
=(-6]

D)

2) Moke Vewn Digvan.

D) P(A ond B):=P( R or ) 1-P(Aord)

\ - 6=F]
5) P(A or B)- Pl Rond b ﬂ»ﬂf\wﬁ
):1 —o-—\ ;
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Yoo ove Yokieg & Ui with 3 Juestiovs.

gach  question has 5 choies, but only one

Corvect  Choice,

You ave ma\ﬁng vandom %Uesses,

0 P(SUess Covreetly on each ﬁwes‘ﬁov\)
- L 2@

5

a) p( Quss Mmavvectly on  each °|\\1€SJT|'0Y|)
-4
3) Dvow Tree c\{cxamvﬂ with C-»lorvect
Cdincorrect. Propacly label each branch
with  Covvesponding Probs.

ccc cct CTC CcTt ceec CCC Ccc
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P(AN Correct) - P CCC) (s 3)(.2)(.2);

P(AN  incorvert) -R(E ) LY IND):- |51

P(a% (east 1 Covrect CLV\SWQ\F)

=1 - PO incorrect) - 4 - . 512=[. {88}

Plaf feast 1 ivcovrect OLYISWQY>
—

21— (AN Corvect) |

-1 - .00 =|. 92|

—

Apr 11-8:29 AM

My Hi\>\f(‘o\+\'ow Kole
P(A and B) = P(AY- P(B|R)

A houﬁfev\s, then ?
® hov(spews Given

Toke fwo balls, no replacenent,

o 1
’P(R,'R.) :—(‘%' R
6
q

P(B B)- %

RR or BB (5 (5

P( Both balls ove i Bevent Co\or)
=1- P( 5°wne, Co\or);i 7% =

ex: A box has 3 Red and 7 Bloe bedls,

P Both Lolls are Same Co\ov);i_ A
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4 Fewales , M“‘QS/

PeoP\e

2) PR Mole): P(Mmm)- =

D) P(af least 1 Rvm\e)
4l

APt least 1 wle)
-4 - P(PFF) -1~

) P( AN Females) - PCFFF)- -

-1 —pmMm)-q Y
R )'1 55 Bo

S
59

Select 3 Jfeven)

= — — .
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¥ we {solate

P(A ond B)= P(RA):

P( & A)
/

Guven
PCRIAY,

\?(B NE

PCA and B)

|

Coa A ional
P(AY-.9 P(®)=.3

Crob.

51 r R) HRandB)

PR B)

P(A and B): D
Aond B)
PLR)

-3 )

A
(_ﬂcu\o\B)

PCB)

-2
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'P( Co SS‘QQ) =+ 0 —C,

P( Donute) = 4 qe’

P(G5See and Doauts)zed

) - P(C and D) 3
P(‘DO“\\J* \Co%&) SO _
P(C O\V\C)\ ) 3 _
SSQQ DO \J* = - - "lb
Pl | Do S) PCD) 4
" eit)e ot 'P(Shoes\ Fw\s): R PPWA;)
P(%\\M‘p) <.bh . m\f\é
3

%h W M‘\g :.‘]5
rP( 0 \ ) Q\POSS~MUH(P{‘(

Tid  P(Shoes ond %ﬂk}
P(Pand 3)=€SX:T5)
-L.é)

Thes problewt

\S imeossib\e,
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P(_ Pﬁﬂkﬁ) S ?(S‘IOQS\ FM\S)'— P( PPQ('\C‘)%)
%)= b b
P(Shoe) . )
3
hoe .
S 5\ m&s) ° Cross-Mofipl{
Tind  P(Shoes and Fom‘ﬁ>.
3-4= 32 PP and) =(6)( 9 48]
[ R og| 0~ 17=-02
gL
) Totd =1 L %
() Quo\i fetive
NM”MU“\QX“CO\\
Doln
V) Discrete \
. Co 1\\‘0\&) €
o) Q\Io‘ﬂ“\‘\*&*(\/e ’
- Nowmey I'Cox\ 9,) Coﬂ\ WIW00S
Measuveuble
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Lk X be a diswele vandow Voriable

with  prob. dust of PO
what is prob. AeshT
s o woy To QivefSind prob.

oS Al possible oufcowes tn the
Sm«\?\e Space .
whit ic o Sample Spae?
T s ™ (omgh\ejre lish o5
Prssivle oulowmes.
Prob. At ool be
) n the Soem 0% o chart

Q) n The &(m of- a 3»/%}5"'
3) n The :S»\orm o} Some \;ormum

L() USMS :5051‘ AQ% . Og‘ PV‘OBO\\)\\\'}(@
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Some  £U\eS

) ol
) ZPM-1
D) P=1 =pdore event

P()=0 3= TwmposSible everl
5) 04 P05 < Rore eveny
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Consider the  Chart  below

4) Dvaw  Prdb. Dish. thistogvam =
x> Mdpoint

Y °
) > Rel. =, ’

D Z P02 454310/

&) ?(X}é) :OSJV.?) = c%

) P(X<2) =542 20 |
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Cosder the Chart below
x| PG DFed Px=Y)

! A >%—L2+3 N }
I el 71 A
> "11 Pegb.
4 T i &)P(?(:i Zr /X:Lk>:
2 %1 :
3) Draw)  Peob, At ’f\\‘sJYojwfo\m.
p ‘3 .
ey
1 2 3 4
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Comr\ejf e the chart Lelow

_X | PO)) )| %R D) S Pa) -1/
0. 2. 2

1
2] 5] 10 | 20 | 9>xp0)-24
3

S (| aq”
3) = Xaf(x):‘f.ol
4) Hd > x%p0) - (Sx \)&x)>2 49 - 2.4 -

5) Siad  \J st answer - J 9 = [T
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Meat M -

2 0N e"\
Vortane O Siyma
S faundoond S
Deviatiow Siyma

63/, R.M\OQ —> M xJ

%5/ Range —> NV Romje —> M+ 20
oY/ Range —> M x 30
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How t& 0se TL 15 Stad ﬂ,@,w,g\(ﬁ

x>t [STATED) cac
P(x) —>L2 Ll 1-Vor %hﬂa
X | P Wex-2.4 List Ly
;,L o 2( .1 ;TQ%L\‘S* cLa
3_ 5 . 1 \Cm\(d \o\E
3 > -

W) (55 [ i
iEnTer] ¢ 0=
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Consider  the Chart below

" PO xsLL, POy —vl2
1;— A5 .
.25 .
1% 1-\ St
4 L .5 0= = List:

2B\ Freglishil2

N=x:-2.4 Siad T [PONER

U=-0x= &7 reduced Fraction

-1 - Lg' S.\T/\E\'S-\"ICS)m
2] ] (29 Yec| Enfe)
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AL (}\JQ(‘ *ers/ 3 fL\'QKQ\S/ J\‘CAKQ 2 CO\'V\S,
No re?\u(emeujf,
O\ 3.2
NN =Tkl D¢ PO0Y-2.2 .6
Sange J N Q
:1‘:5;“_ Q N —p Tkl 30¢ P(3O¢)=Q-3§-%-=%
QR — Tobl 508 P(50¢): %\q_fs
Tl | P Toklosx L1
08 | 40 P(Toful) > 1) L2
3ot 12/20 vse 1- Ve~ Stufs With
504 %0 L&Le
\2/20 ﬂ; Qé,
20 Q= \8
= =1
B sl T2 144
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E K?Qﬁe& Value

M
NS Mei’)
$0-% 100\ \20

$10 fO\ 920

ooeb dLi
P(Net) L2

X

—

ExPeéreo‘ \Veldg = MU =X:=\$S5| &5 per

Pev Tickel

20 Shdents
20 tikels weve Sold

each Fiket $10

one Hkel s
rondomly  dvduvt

Winigr 9eks o Gle
Worth $100.

N wake

fket Sold.
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You \)U‘( \Uﬁgﬂ\j& msuvare  Srom the irlive

Voo Pay %00, Any damages Piclive Pays
You  $1000,
F( Any c\ownqje> =.\7/ - .001
Neb | Ponet) et L1
100-1000) 001  Damge  P(NE) L2

100 - O 999 Damf\mg,e EXPQ(*QA \/mlue
Per Policy Sold
M= =8N
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Dvaw one Ccuc\ \S:ravv\ a Soll standavd AecK
oY P‘“‘(iﬂﬁ Cads. You wost pay §5

To ploy.

I Yoo dvaw T 9ive You
A $50
Red Sace $10

Any Sthey CMA $0
ExPede& \alve po dvaw Sor the hovse

Net PUQQJ() ZN. 2 M=X=0
5-40 | ¢52  RedSuce
5 0\ b Any ot (ad

v
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Cloos Q& ]
Goodey  the  Chart below
X \ P(X) S‘i(\A

1 05 l)ﬂ ~3.5 EROQ“&
e 5 U]
3 25 SIUESRE 1-dee.
4 | .35
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